Quiz Section 4-1/4-2/4-3

Must see picture and all process for the first #3 problem…Don’t forget it has 4 answers(read it carefully)!!!
Must show all work to the first #4 problem….I should see 3 distance formula equations and a classification answer!!!
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2. MULTIPLE CHOICE What is the best
classification of this triangle by its

angles and sides?
A acute isosceles C right isosceles

B obtuse isosceles D obtuse equilateral

3.1f AABC is an isosceles triangle, B is the vertex angle,
AB = 6x + 3, BC = 8 — 1, and AC = 10x — 10, find the value
of x and the length of each side of the triangle. 3.

4. Find the measures of the sides of AABC with vertices A(1, 5),
B(3, —2), and C(~3, 0). Classify the triangle by sides. 4.
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Find the missing angle measures.
2. What is m£1?

F 50 H 100

G 60 J 105
3. What is m£2?

A 40 C 60

B 50 D 100

4.1f ASJL = ADMT, which segment corresponds to LS?
F DT H MD
G TD J MT
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Find the measure of each angle.
1. msA1
2.ms2
3.ms3
4. mz4
5.ms5
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6. Which is not a classification for AFGH?  *
A acute C isosceles
B scalene D equiangular




